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" UNIT -1 ’ B , 5. Discuss the following types of errors in moving iron
type instruments : 20
2. (a) Differentiate between scale range and scale span : '
' : (a) Hysteresis error
giving suitable examples. S 10 :
' . _ : (b) temperature error
(b) A Wattmeter having a range 1000 W has an error o ‘ , s
L ' : . E tof ch f frequency.
of £1% of full scale deflection. If the true power is i (c) Error on account of change of frequency
100 W, yjhat WOuld’ be the range of readings ? ? UNIT = Ii
Suppose the error is specified as' percentage of » :
true value, what would be the range of the y‘ 6. In a dynamometer wattmeter the moving coil has 500
readings ? : : 10 ~ turns Qf 1‘nean diameter 30 ‘ . Estimate the torque-if
iﬁ * the axes of the field and the moving coils are at (a) 60°
. 3. If we adopt new -units of length, mass and time such " (b) 90° when the flux densitylf‘)roduced by field coils is
that one new unit of length = 10 metre, one new unit 15*10°Wb/m’, the current in moving coil is 0.05 A
of mass = 1/10 kilogram and one new unit of time = and the power factor is 0.866. |20
100 second. How would. the units of force, power, 7. Explain the construction and working of the following :
energy and current  be affected ? The units of - 20
permittivity remain the saT\e. B 20 (a) Weston type frequency meter
UNIT ~ 1 : ’ (b) Ratio type frequency meter
4, Describe the constructioT ";ar_ld working of PMMC & ~ UNIT-IV
mstrur‘nent. Derive the eq‘gahon for deflection .1f the i 8. (2) The four arms of a Wheatstone bridge arc as .
instrument is spring contlc;lled. Des.cribe the method g : foliows : 10
of damping used in these instruments. 20 :
. ‘ ’ AB =100€; BC=1000; CD = 4000 Q2 and DA =400 Q
24027-4600-(P-4)(Q-9)(15) (2 g - | 24027-4800-(P-4)(Q-9)(15) (3) ' P.T.O.
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